MIAMI-DADE ‘ MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
' DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Streef, Room 208

AFFAIRS (PERA) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786} 315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamitlade.gow‘nera

Andersen Corporation

100 Fourth Avenue North

Bayport, MN 55003

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County PERA -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Narrow Clipped Steel Mullion — L. M.

- APPROVAL DOCUMENT: Drawing No. M07-03, titled “Natrow Steel Mullion System”, sheets 1
through 11 of 11, dated 07/02/07, with revision B dated 01/26/12, prepared by Al-Farooq Corporation,
signed and sealed by Javad Ahmad, P.E., bearing the Miami-Dade County Product Control revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control
Section. '

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved"”, unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.,

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
“followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises and renews NOA # 10-0603.03 and consists of this page 1 and evidence page E-1, as
well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

' NOA No. 12-0308.31

Expiration Date: May 02, 2017
: Approval Date: May 17, 2012

2y /8[ 1Z Page 1



Andersen Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. M07-03, Sheets 1 through 11 of 11, titled “Narrow Steel Mullion -
System”, dated 07/02/07, with revision B dated 01/26/12, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E.

B. TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of two-wide fiberglass/wood fixed windows mulled
jamb-to-jamb with a narrow steel mullion, prepared by Architectural Testing, Inc.,
Test Report No. ATI-76004.01-201-18, dated 01/08/08, signed and sealed by J oseph
A. Reed, P.E.

(Submitted under NOA # 08-0326.01 )

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC-2007,
prepared by Al-Farooq Corporation, dated 05/07/10, signed and sealed by Javad
Ahmad, P.E.
(Submitted under previous NOA#10-0603.03)
2. Glazing complies with ASTM E1300-04

D. QUALITY ASSURANCE
1. Miami-Dade Department of Permitting, Environment, and Regulatory Affairs (PERA)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of conformance, complying with FBC-2010, and of no financial
interest, dated January 24, 2012, signed and sealed by Javad Ahmad, P.E.

G. OTHERS
1. Notice of Acceptance No. 10-0603.03, issued to Andersen Corporation for their
Narrow Steel Mullion — L.M.L., approved on 08/11/10 and expiring on 05/02/12.

Manuel Perez) P.E.
Product Contro iner
NOA No. 12-0308.31
Expiration Date: May 02, 2017
Approval Date: May 17, 2012




MULTIPLE MODULES

I’ACCEPTABLE
p ANDERSEN CORP. ANDERSEN CORP.
MULTIPLE MODULES 27 WINBOW INDOW
ACCEPTABLE ’ ; SEE smjfﬁm NOA SEE ngiﬂRATE §20A
S S e
// I/ //
—
Z VERTICAL
MULLION
—~ VERTICAL
MULLION
/; /; /’// /. S /;
e 7 s =z s Vo e
- L " Sz L L e
e Vs s s a S Ve Vs
s, iy s, = 7 . [ ‘s
ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP,
WINDOW /DOOR WINDOW,/DOOR WINDOW /DOOR WINDOW /DOOR'
SFE SEPARATE NOA SEE SEPARATE MOA SEE SEPARATE NOA SEE SEPARATE NOA

MULLION SPAN

NARROW STEEL MULLION_SYSTEM
WINDOW FRAME MEMBERS INCLUDED IN PROPERTIES

DESIGN LOAD RATING FOR THIS MULLION TO BE AS PER CHARTS
SHOWN ON SHEETS 4 AND 5.

APPROVAL APPLIES TO MULLIONS COMBINATIONS WITH FRAME MEMBERS OF
ANDERSEN CORPORATION WINDOW AND DOORS IN ANY COMBINATIONS

SEE SHEET 2 FOR WINDOW FRAME MEMBER DETAILS.

SEE SHEET 3 FOR DOOR FRAME MEMBER DETAILS.

SEE SEPARATE NOA FOR WINDOW/DOOR ANCHORS AND DESICN LOAD CAPACITY.

LOWEST VALUE RESULTING FROM MULLION, WINDOW OR DCOR APPROVAL
WILL APPLY TO ENTIRE SYSTEM.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING HIGH VELOCITY
HURRICANE ZONE (HVHZ).

WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER
LOADS TO THE STRUCTURE.

ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETALS ARE
NOT PART OF THIS APPROVAL.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.

MATERIALS INCLUDING BUT NOT LIMITED TQ STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH QTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE FLORIDA BLDG. CODE SECTION 2003.8.4.

TYPICAL MULLION ARRANGEMENT

MULLION SYSTEM IS RATED FOR LARGE MISSILE IMPACT.
AND CAN BE USED WITH ALL MIAMI—DADE COUNTY APPROVED

IR
0
MULLION SPAN \h.u B
] 1
MULLION SPAN HORIZONTAL s
MULLION g
HORIZONTAL Z ® Z
MULLION Lo I $ o]
ma 7 & —
VERTICAL = u MIE
MULLION. 4 E M|
‘/ o 8
= )
ANDERS (ol 2
WINDOW (1 %
3 SEE SEPARATE NO o X
Q& ¢
=t
3
QRumo
0azgy
VERTICAL QILE §
MULLION EP.08K
2f &
=L 5
Lz028
e S S b5 g e L
s s o R EE
e N e R
74 e 77 Giii———
s . ‘, ‘s e
ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. P
WINDOW /DOOR WINDOW /DOOR WINDOW/DOOR o) ©
SEE SEPARATE NOA SEE SEPARATE NOA SEE SEPARATE NOA slE 8
Slgz8
n x| T
19, L
i =9
€ -8 &
= O
S1Q w8
Y10 =w
3 < &
Szt Z &
SlogE== ¢
nNs, -
- MULLION SPAN dlea E =
o || Ll b 8 2
HORIZONTAL 7 % =3l
MULLION < () EEI o
= - -
QI = @
@ | = @
ANDERSED CORP, m
Jf:ﬁlé’éw ¢ :
SEE SERPARATE NOA Z| A
\—/L.._.___./
C )]
< VERTICAL ~ VERTICAL olo
MULLION MULLION e
s 8|2
S Vs - alo
vl s s/ 5o«
e e e HEE
e S, S |28
<, ‘ s 8 'E E
[w]
ANDERSEN CORP, ANDERSEN CORP. ANDERSEN CORP. Sls|g
WINDOW /DOOR WINDOW /DOOR WINDOW /DOOR
SEE SEPARATE NOA SEE SEPARATE NOA SEE SEPARATE NOA 2
MBI
G
21853
2JE<|e )
5
i~
7
e AD PRODUCT REVISED 8
" FLA.PE # 70592 es complying with the Florida ré
C.AN. 3538 Suilding Code 5
. B ’ " | Acceptance No /2. 0.303-3 8 2
Expiration Date k] £
| S —
2
Miami Pade Produtq drawing  no.

IMPACT AND NON-—IMPACT RESISTANT PRODUCTS.

(sheet 1 of 11)




4123 | 658 2,942
6 2.250 j r»_gsgq: 3.334 | . 3.334
1,415 1.375 i e 1,415 - 1.375 =
.569 J — r7 ‘“{ : r 7 1.355
f 1.350 L' sgs — ] 6 811 L~ l
C b | . o L I
L‘2.344 2,771 —' 2.771 - 4125
CASEMENT AWNING TILT-WASH DOUBLE HUNG { WOODWRIGHT DOUBLE HUNG SPECIALITY DIRECT SET (CTC & CTQC)
FRAME HEAD/SILI FRAME JAMB FRAME HFAD ! FRAME HFEA AMB FRAME SILL
30835 30836 - : - 27230
WOOD W0OD WQoD | WOOD WO0oD
4.125 ! 3.196
e 3.334 . B12 |-
2.250 =989 = - S .8721
b FF1.115 rr44.375 .7cér
406 f ] ] —’|
f 1.109 E 656
{ { 1.500
m l ) 750
thggﬁ—zj71———~4» ;
844 2.344 —— :
3.352
CASEMENT AWNING TILT-WASH DOUBLE HUNG TILT-WASH FIXED WOODWRIGHT FIXED SPECIALITY DIRECT SET (CTN)
FRAME JAMB FRAME HEAD/SILL FRAME. _JAMB FRAME HEAD/SILL/JAMB FRAME _HEAD/SILL /JAMB FRAME SILL
30838 30838 - - : - 27122
WOOD WooD WOOD WOOD WOOD WOOD
i 3.727
2.942 966
3.797 rp ﬂj LDBO*j
7 I 1 J i.4
719 a1 1.380 1294 g2 1.391 [ 25
§ n__ —_) & { A ‘7?5 ”
3.844 4.125 2.500 4.007
PSNL CASEMENT PICTURE FLEXIFRAME FIXED SPECIALITY DIRECT SET (ET)
FRAME HEAD/SILL/JAME FRAME HEAD/SILL/JAMB FRAME HEAD /SILL /JAMB FRAME SILL
~ - - 53103
WOOD WooD WoOoD WoOoD
2.939
|
I f 1.336
797 r____j____fi
4 ]
4.121
Engr: JAVAD :AHMAD R )
CASEMENT PICTURE (P) L L;‘g‘j,‘;gﬁ,gﬁ}’fﬂ}m
FRAME HEAD/SILL /JAMB FLA PE 70592 | Byilding Code
30394 A E Acceptance No /7 '0308-31
WOOoD Expiration Date 17

f
<

MULLION\M07-03AC

FAX. (305) 262-6978

a

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAML, FLORIDA 33174

TEL. (305) 264-8100

|

|

CORPORATION
BAYPORT, MN. 55003—-1096
FAX ()

100 FOURTH AVE. NORTH
TEL. (800) 426~7691

ANDERSEN

NARROW STEEL MULLION SYSTEM

>

=
]
v
o
IS
=
=
-

|

|

NG CHANGE THIS SHEET
NQ CHANGE THIS SHEET

by [ description

B |01.28.12

(revisions:
ol daie
A [05.10.10

|

07-02-07

13
._
[}
™
~
—
]
=]
o
B

dr. by: HAMID

date:
chik.  by:

S ———
S
drawing no.

MO7-03
[sheet 2 of 11




1

5.794

1 .373ﬂ
O e
929

r

1.230

| |

Iﬂi 2,655 ———

988

[ N ‘

4,193

2.655

=

1.185

bl o

1.016

1,359

.

r_____*lf_Tr 673

]
3.979
FWH
HINGED HEAD/JAMB COVER (OPERATING/STATIONARY
52225
FIBERGLASS

445 2.693 4,224 |
2.331 |
FWG FWH FWO
GLIDING DOOR FRAME HEAD HINGED DOOR HEADR/JAMB {OPERATING /STATIOMNARY) QUTSWING DOOR HEAD/JAMB (OPERATING /STATIONARY)
- 62253 57018
WooD WoOoD WOO0D
2.087
567 e T

.085 3

QUTSWING HEAD/JAMB COVER (OPERATING/STATIONARY)

1.197

? “’l
f—1.564 —=1=—1.349

FWO

57031

FIBERGLASS

$.282 X 632 SLOT

/¢.359

8.000 TYP.

/95.4-38 X 938 SLOT

—————4.000 TYP.

8.000 TYP.

\—a.zm

NARROW_MULLION

ZINC PLATED STEEL

188~ =~
4.000
Engri JAVAD AHMAD
©CML:
‘ FLA. PE # 70592
) C.A.N. 3538
S

PRODUCT REVISED

as complying with the Florifa
Building Code . o
Acceptance No Q‘D 08.3)
Expiration Date MAY 2,201 7

a ™

f

C
MULLION\MO7—03AC ]

FAX. (305) 262-6978

AL-FARQOOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.\W. 87 AVE
MIAMIE, FLORIDA 33174

TEL (305) 264-8100

C

|

FAX (=)

ANDERSEN CORPORATION

7{

100 FOURTH AVE. NORTH
BAYPORT, MN. 53003-1096

TEL. (800) 426-7691

NARROW STEEL MULLION SYSTEM
®

KDERSE

[

J
J

NO CHANGE THIS SHEET
NO CHANGE THIS SHEET

by | description

B {01.26.12

(revisions:
nol date
A [05.10.10)

|

07-02-07

H
"
]
™
~
-
P
8
o]

dr. by: mamID

date:
chk. by:

S —
drawing no.

MO7—-03
——sheet 3 of 11




DESIGN LOAD CAPACITY - PSF || DESIGN LOAD CAPACITY - PSF ! | DESIGN LOAD CAPACITY — PSF
W/0 INTERMEDIATE HORIZONTALS| [W/0 INTERMEDIATE HORIZONTALS /0 INTERMEDIATE HORIZONTALS
WINDOW DIMS. EXT. (4) WINDOW DIMS, EXT, (+) WINDOW DIMS, EXT. (+)
WIDTH (W) |MULL SPAN| INT. (-} WIDTH (W) [MULL SPAN| INT. (-) WIDTH (W) |[MULL SPAN| INT. (=)
12" 100.0 12" 100.0 12" 71.6
15" 100.0 157 85.3 15" 58.0
18" 100.0 18" 725 18" 120" 49.0
21" 94.2 21" 63.4 21" 42.6
24" 85.0 24" 56.7 24" 37.8
27" 78.0 27" B4” 51.4 27" 34,1
30" 80" 72.5 30" 47.3 12" 68.0
33" 68.2 33" 44,0 15" 55.1
26" 64.8 36" 41.2 18" 126" 46.5
39" 62.0 39" 38.9 21" 40.4
42" 59.8 12" 87.1 24" 35.8
45" 58.0 15" 78.1 27" 32.2
48" 56.7 18" 67.2 12" 64.8
12" 100.0 21" 58.7 15" 52,4
15" 100.0 24" 80" 52,3 18" 132" 44,2
18" 95.4 27" 47.4 21" 38.1
21" 84.0 ag" 43.5 24" 33.4
24" 75.6 33" 40.4 12" 60.6
27" 69.1 36" 37.8 15" 48.5
30" 66" 64.0 12" 90.7 18" 138" 40.5
33" 59.9 15" 73.8 21" 34.8
36" 56.7 18" 62.5 24" 30.5
39" 54.0 21" 54,5 12" 55.3
42" 51.8 24" g6" 48.6 15" 44,3
45" 50.0 27" 44,0 18" 144" 37.0
48" 48.6 30" 40.3 21" 3.7
12" 100.0 33" 37.3 24" 27.8
15" 100.0 38" 34,9
18" 86.3 12" 85.0
21" 75.8 15" 69.1
24" 68.0 18" . 58.5
27" 62.0 21" 102 51.0
30" 72" 57.3 24" 45.3
33" 53.5 27" 41.0
36" 50.4 30" 37.5
39" 47.8 33" 34,7
42" 45.7 12" 80.0
45" 44.0 15" 65.0
48" 42.5 18" 54.9
12" 100.0 2" 108" 47.8
15" 92.6 24" 42,5
18" 78.8 27" 38.4
21" 69.1 30" 35.1
24" 61.8 12" 75.6
27" 56,2 15" 61.3
30" 78" 51.8 18" 51.8
33" 48.2 21" 114" 451
36" 45.3 24" 40,0
39" 42.9 27" 36.1
42" 40.9 30" 33.0

g
o
% % %z ‘”

L .
= A A s =z
74 7 4 o
4 2 5 Q
=
2
=

w1 w2

Wi

w2

MULLION SPAN

WIDTH (W) = -Slx W2

2

CIVIL ‘
Fia. PE # 70592
C.AN, 3538

PRODUCT REVISED

as comptying with the Floridy
Building Code
Acceptance No {2-
Expiration Date

a
%
)

MULLION\MO7—03AC ),

FAX. (305) 262-6973

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

?H

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003—1096
FAX (=)

TEL. (800) 426-7691

NARROW STEEL MULLION SYSTEM
®

=
[
w
[
=2
[
=
-

[

|

=

NG CHANGE THIS SHEET

CHART REVISED

by [description

(revisions:
‘no| date

A 105.10.10
B |01.26.12

date: (07-02-07

=]
2
5
i~
o

chk, by:

|
T
drawing no.

MO7-03




R e
Q
DESIGN LOAD CAPACITY ~ PSF[|DESIGN LOAD CAPACITY - PSF || DESIGN LOAD CAPACITY — PSF g &) X
WITH INTERMEDIATE HORIZONTALS| [WITH INTERMEDIATE HORIZONTALS| [WITH INTERMEDIATE HORIZONTALS m <
WINDOW DIMS. | exr (4 WINDOW DIMS. EXT. (+) WINDOW DIMS. | yr (4) S A '"%3
WIDTH (W) [MULL SPAN| INT. (-) WIDTH (W) [MULL SPAN| INT, (-) WIDTH (W) [MULL. SPAN| INT. (=) % % % 4 g %
12" 100.0 12" 100.0 12" 71.6 % 7 7 Or 88
(3]
15" 100.0 15" 85.3 15" 57.6 = == k= u =
=
18" 100.0 18" 72.5 18" 120" 48.0 g é g g
2t" 94.2 21" 63.4 21" 41.1 > O )
[ 41 z ;
24" 85.0 24" 56.7 24" 36.0 2 2 z = & E E
27" 78.0 a7" 84" 51.4 27" 32.0 7 % % 2 05
30 60" 72.5 30" 47.3 12" 65.3 02 &
33" 68.2 33" 44.0 15" 52.2 Qguy 8 g
36" 64.8 36" 41.2 18" 126" 435 Q ; -
39" 62.0 39" 38.9 21" 37.3 g @ 5% §
42" 59.8 12" 97.1 24" 32.7 " W qi3d %
[T, S
45" 58.0 15" 79.1 27" 29.0 > § 58
48" 56.7 18" 67.2 12" 59.5 al g 5% d
. . " m =
12 100.0 21" 58.7 15 47.6
. YT . MULLION SPAN o
15 100.0 24" 90 52.3 18" 132" 39.7 e
18" 95.4 27" 47.4 21" 34,0 5
21" 84.0 30" 435 24" 29.8 slE &
24" 75.6 33" 40,4 12" 54.4 LT o
27" 69. 1 36" 37.8 15" 43.6 g o ST
30" 66" 64.0 12" 90.7 18" 138" 36.3 e =gz
33" 59.9 15" 73.8 21" 31,1 4 P P s8¢ 8
36" 56.7 18" 62.5 24" 27.2 Z 7 % g = D
. " " 2ETESET
39 54.0 21 54.5 12 49.7 = [N
42" 51.8 24" 96" 48.6 15" 39.8 _ & 35
- ~
45" 50.0 27" 44.0 18" 144" 33.2 bW o 2
48" 48.8 30" 40.3 21" 28.4 nwIiZzZ8x 5
12" 100.0 33" 37.3 24" 249 ‘ z ‘f“#ﬂ
15" 100.0 36" 34.9 ! % :E @
PRI AL,
18" 86.3 12" 85,0 (e Qs < | =
21" 75.8 15" 69.1 =l
= |
24" 68.0 18" . 58.5 >
. ) 102 . M 2
27 62.0 21 51,0 e 5 z
30" 72" 57.3 24" 453
33" 53.5 27" 41.0 B
36" 50.4 30" 37.5 o
39" 47.8 33" 34.7 “rit “Hg g 58|~
42" 45,7 12" 80.0 5|¢ g
|-
45" 440 15" 65.0 alE(s
48" 42.5 18" 54.9 SHE
12" 100.0 21" 108" 47.8 MULLION SPAN 8
15" 92.6 24" 42.5 H O~
2] " C u) F‘. '-‘
18 78.8 27 38.4 SlslS|e
21" 69.1 30" 35.1 WIDTH (W) = Wit w2 | M
24" 61.8 12° 75.6 2 el <]® )
| S
27" 56.2 15" 61.3
30" 78" 51.8 18" 51.8 IS 'OT
. " " Engr: JAVAD AHMAD DUCT REVISED o Q
33 48.2 21 14 45.1 oL g?gmp]ying © it the Flosida S z
36" 45,3 24" 39.9 ‘FLA, PE # 70592 Hdin 5 T
C.AN. 3538, Building Cade 6 3 . i,
u 4 . 35.5 ‘ T Acceptance No /2-03p8. 3/ " E|2
39 2.9 27 . . s v ’7 a ,
42" 40.9 30" 31.9 Fxpiration Date MAY 4, 2 3 515
. . ;\§{-\' 4 74 P G )
el\ ﬁym drawing no.
!
& MO7-03

_sheet 5 of 11




#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 168" 0.C. MAX.

CASEMENT TO CASEMENT
VERTICAL JOIN

AWNING TQ AWNING
HORIZONTAL JOIN

#16 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

FLEXIFRAME TO FLEXIFRAME
VERTICAL OR HORIZONTAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX,

T
=8

3

FLEXIFRAME TO CIRCLE TOP/QUARTER

VERTICAL OR HORIZONTAL JOIN

10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

CASEMENT TO AWNING
VERTICAL OR HORIZONTAL JOIN

#10 X 2—1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" O.C. MAX.

CASEMENT TO FLEXIFRAME

HORIZONTAL JOIN

AWNING TO_FLEXIFRAME
VERTICAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" O.C. MAX.

AWNING TO AWNING
VERTICAL JOIN

CASEMENT TO CASEMENT

HORIZONTAL. JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

CASEMENT TO FLEXIFRAME
VERTICAL JOIN

AWNING TO FLEXIFRAME
HORIZONTAL JOIN

. E H ;QVAD AH(MAD
. PRODUCT REVISED

FLA. PE- # 705982 as complying with the Flonida

C.AN. 3538 Building Code
A P30E. 3/
Expiration Date AAY 2, 7 17
By
Mia

f
C

MULLION\MO7—03AC )

{a

FAX. (305) 262-6978

, FLORIDA 33174

L-FAROOQ CORPORATICN

ENGINEERS & PRODUCT DEVELOPMENT

|

TEL. (305) 264-8100

C

1235 S.W. 87 AVE

MiAMI

A

ANDERSEN CORPORATION
100 FOURTH AVE. NORTH
. MN. 55003-1096

:

NARROW STEEL MULLION SYSTEM
BAYPORT

A NDERSEN|

f

|

®

|

FAX (=)

TEL. (800) 426-7601

)

NG CHANGE THIS SHEET
NC CHANGE THIS SHEET

by [description

A 105.10.10
B [01.26.12

(revisions:
nol date

07 =02=-07

L
"
u

.
o
~
-

I
=
o
@

dr. by: HAMID

date:

|

 SE—
drawing no.
MO7—-03

chk. by:

-~ - @@ .
(sheet B of 11)




#10 X 2—-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

400 TWDH WDW TO 400 TWDH_WDW
VERTICAL JOIN

400 TWDH WDW TO 400 TWDH _PICTURE WDW
VERTICAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" O.C. MAX.

PSNL. WDW TO 400 TWDH_PICTURE WDW
VERTICAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

IRCLE TOP TQ AWNIN

HORIZONTAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" Q.C. MAX,

PSNL WDW_TO PSNL _WDW

VERTICAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

CIRCLE TOP _TQ CASEMENT

HORIZONTAL JOIN

#10 X 2-1/4" SCREWS
AT 5" FROM HEAD/SiLL
AND 16" 0.C. MAX.

CASMT PICTURE WDW. TQ AWNING CASMT_PICTURE WDW, TO CASEMENT

VERTICAL JOIN HORIZONTAL JOIN

#10 X 2—-1/4" SCREWS
AT 5" FROM HEAD/SILL
AND 16" Q.C. MAX.

CASMT_PICTURE WDW. TO AWNING CASMT PICTURE WDW, TQ CASEMENT
HORIZONTAL JOIN E ‘ VERTICAL JOIN

Engr: JAVAD AHMAD
o CivIL PRODUCT REVISED
* FLA, AF.'E # 70592 as complying with the Flosida
CAN. 3538 Building Code
* Aoceptance No 12-0308.2)
Expiration Date }7
1 ; \‘L By
W ™ Mgl ripol
<

a
%
C

MULLION\MO7—03AC |

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX {-)

TEL. (B0O) 426-7691

|

®

=
v
]
2]
A
=

uARROW STEEL MULLION SYSTEM

A

|

NG CHANGE THIS SHEET
NO CHANGE THIS SHEET

by [descripiion

{revisions:
o[ date

A [05.10.10
g 01.26.12

07-02-07

o
=
S
&

date:
dr.

drawing no.

MO7—-03
——sheet 7 of 11




Y

f
C

MULLION\MO7—03AC )

#10 X 2-1/2" SCREWS #10 x 2-1/2" SCREWS
AT 5" FROM HEAD/SILL —AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX. / AND 16" 0.C. MAX.

i '///%

|

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX,

FAX. (305) 262-6978

=%

PSNL _TO CIRCLE TOP-—NE 400 TW TO CIRCLE TQP--NL 400 TW TO TW TRANSOM
HORIZONTAL JOIN HORIZONTAL JOIN HORIZONTAL JOIN

AL-FARQOQ CORPORATION

ENGINEERS & PRODUCT DEVELOFPMENT

1235 S.W. 87 AVE
MiAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003—-1096
FAX (=)

TEL. {800) 426-7691

®

[ NARROW STEEL MULLION SYSTEM

=
=
w
ak
£
a
=
-

|

[ I ®]
Led | L
@I |
v |
v
HEE
HEE
c%é
[
HEIE
0
(2|2
>

)
in =3 ]
elels|s
Qlo|=la
21815
oo

o | D
e )
———

3

h 1 4
. 5|«
-~ [
Engr: JAVAD, AHMAD PRODUCT REVISED 1,18
FLA. PE # 70502 - | s complying with the Floeida s R 2
AN, 3538 g Building Code el B
A Aceeptance No /2« | g || 8 &
Expiration Date Df? Bl gllsllz
e —
By S
dMiamj Dade Produet drawing  no.
_—sheet 8 of 11




#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE_TO FW GLIDING DO
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" 0.C. MAX.
|

FLEXIFRAME /ARCH /SPRINGLINE TQ FW GLIDING DOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

PSCA PICTURE WDW TO FW_GLIDING DOOR
HORIZONTAL JOIN

#10 X 2—1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 18" 0.C. MAX.

FLEXIFRAME /ARCH/SPRINGLINE TO FWH DQOOR
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 18" 0.C. MAX.
]

FLEXIFRAME /ARCH /SPRINGLINE TQ FwH DO
HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

PSCA PICTURE WDW TO FWH DQOR

HORIZONTAL JOIN

#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

FLEXIFRAME /ARCH /SPRINGL |

HORIZONTAL JOIN

TO FWO DOOR

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" 0.C. MAX.
l

i

U

FLEXIFRAME /ARCH /SPRINGLINE _TO FWO DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 18" Q.C, MAX,

PSCA PICTURE WDW TQ FWQ DOOR

HORIZONTAL JOIN

Engr:. JAVAD AHMAD
' CiviL

CFLA. 70592
35

PE #
C.\A.N. 383

| Building Code
| Ascgptance No

PRODUCT REVISED
as complying with the Florida

2. 3]

7

Expiration Date

{‘tJ

MULLION\MO7—C3AC )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL. (305) 264-8100

[

|

)

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FaX (=)

TEL. (800) 426-7691

|

NARROW STEEL MULLION SYSTEM
®

NDEERSE

[

|

)

NO CHANGE THIS SHEET
NO CHANGE THIS SHEET

by [ description

B j01.26.12

(revisions:
Mol daie
A 105.10.10

[

07-02-07

H
"
I
o
~
P,
P
<]
51
1

dr. by: HAMID

dote:

chk. by:

| S
)
drawing no,

MO7—-03
__sheet g9 of 11




END BRACKET

TYPICAL ANCHORS
TYPE A, B OR C—
4 PER CLP

END BRACKET

T

\L
NS

1/4" X 5/8"
—HEX HEAD BOLT & NUT

o

TYPICAL ANCHORS
TYPE A, B OR C
4 PER CLIP

1/4" X 5/8"

HEX HEAD BOLT & NUT

VERTICAL OR_HORIZONTAL

MULLION CONNECTION

1/4% MAX.

SHIM

s %,188
w312 L] 208 / /0.281
i ) =
4o 0 e o
| o o o o
4.250 f—1.500 —

MULLION END BRACKET

14 GA. ZINC PLATED STEEL

TYPICAL ANCHORS: SEE ELEV. FOR SPACING
TYPE "A'~ #12 SMS OR WQOD SCREWS (GRADE 2 CRS)

INTO 2BY WOOD BUCKS QR WOOD STRUCTURES
1-3/8" MIN. PENETRATION INTQ WOOD

TYPE 'B'- 16" DIA N BY ' {(Fu=177 KSI, Fy=155 KSI)
THRU 1BY WQOOD BUCKS INTQ CONC. OR MASONRY
1-1/4" MIN. EMBED INTO CONC. OR MASONRY
DIRECTLY INTO CONC. OR MASONRY
1—1/4" MIN. EMBED INTO CONC. OR MASONRY

TYPE 'C'~ #12 SMS OR SELF DRILLING SCREWS (GRADE 2 CRS)

INTO METAL STRUCTURES

STEEL : 12 GA. MIN. (Fy = 36 KSI MIN.)
ALUMINUM : 1/8" THK. MIN. (6063-T5 MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TYPI TAN

INTO CONCRETE OR MASONRY = 1-7/8" MIN,
INTO WOOD STRUCTURE = 3/4" MIN.
INTO METAL STRUCTURE = 1/2" MIN,

R T TAN

INTO CONCRETE AND MASONRY = 1-3/16" MIN,
INTO WOOD STRUCTURE = 3/4" MIN.
INTO METAL STRUCTURE = 3/4" MIN.

CONCRETE AT HEAD, SILL OR‘ JAMBS f'c = 3000 PSI MIN,
C—-90 HOLLOW/FILLED Bi:.OCK' AT JAMBS f'm = 2000 PS| MIN.

Engr: JAGD ARMAD .| pRODUCT REVISED
FA, PE # 70502 .as complying with the Florida

‘Expiration Date Ol 7

C.AN, 3538 ‘Brilding Code
Q| Acceptavee No 12-0308.3)
> ,

~,

AlL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE

a

MULLION\M07-03AC

|

f
<

FAX. (305) 262-6978

MIAMI, FLORIDA 33174
TEL. (305) 264-8100

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003—~1096
FaX (=)

TEL. (300) 426-7691

/

NDERSEN

( NARROW STEEL MULLION SYSTEM

!

|

)

NO CHANGE THIS SHEET

ANCHORS REVISED

by [ descriplion

A [05.10.10
8 |01.26.12

(revisions:

nel date

07-02-07

date:

|

by:  HAMID

e
-
Il
H
o
~
-
P
5
a

gr.
chk. by:

drawing no.

MO7-03

i

sheet 10 of 11




mo<no|\.os/zo:,5§ ) (=) xv4  189/-9Z¢ (008) 130 ® [ ) 6 M) ||—=
BL69-292 (SOE) "Xvd COTS9aT (S08) "TAL 9601—C00GS "NW ‘1M0OdAVE QNvH g up SO 5
9 %hﬂmwxﬂ.ahwﬁ“%memw_ﬂﬁ HIYON “3AV HLdNO4 001 133HS SIHL 39NVHO ON zioz o) 8 o _F -
e WA= LB = e
k INIWEOTIAIA 10NA0HA 2 suzanona || [LNOUVHOdY0D NISYIANY Jrzsusaxr S L mmﬁow Mw - o mw WO 0<s - : W 5
£ | NoILYH0dH0D DOooHVITVY (__ W3LSAS NOMINA 1331 mO¥awN | 7 Suoisied) | L0720-10 mep] IS G
mm.w,
)
Es
DM Q
#4E
Ir
2 wgZ &
ﬂ.w.,nw m =
SEpEE
ZESRE
g33gs
muBAE
g 8-
E.R2
las="
Ec&=.
g g0
_.m [TH

1/4" x 5/8"
HEX HEAD BOLT & NUT

VERT. MULLION CONNECTION TO HORIZONTAL MULLION




